FEmI0FER EAHFWUT1)I8ARIYYI—K2
# F15EIALREFEULEYVINEES ARV N—ASLBEAS I |HEE T8

AK=1HHE:108138(XL)

[F:2)—7]
AJOvy

kLI EEEB[ASTRO AN
N O3-0[A0-0 4] 3] 2
=% X 0-3 X 0-3 -6| 3
ASTRO| A0-0/O3-0 3| 1
c7Oovy

GBB [SFIDA[7737+% AN
GBB O17-0[AT-1 4117] 1
SFIDA| X 0-17 X 0-11 -28] 3
27572 O11-0| A1-1 1] 2
EJAOvY

e EEEE kT B =|E
EDzTo) 04-0]0O8-0 6l12] 1
FEEEH| X 0-4 O2-1 3[-3[2
BAI [ x0-8[ x1-2 0[-9] 3
G7Aavyy

TRE—F[UR LA mEEt AT A| | =] B
TRE—F 06-0[O4-0[O9-0[ 9]19] {
JRLE[ X 0-6 A0-0[O2-0] 4[-4
g X 0-4] A0-0 X 1-3 -6
a2EZX| X 0-9] x 0-2] O 3-1 31-9] 3

GREEA—F AR

PK 2x1

BZQvY
MER| B | dres Bz | IR
HER O7-1x0-8 3[=2] 2
FETx1-7 X 0-3 0l-9] 3
#[0O8-0]O3-0 6l111] 1

pJavy
A BT Bl =]E
EES 02-0[{O4-0 0 ]
FEE[] X 0-2 X 1-3 0l-4[ 3
S50 X0-40O3-1 3[-2] 2

F70Ov4y
17— 1| RIVALE] [A]f& B[ =g
LIA—IL X 0-5| X 0-5 -10] 3
RIVALE| O5-0 A1-1 4] 5| 2
A% [O5-0[Al-1 4] 5] 1

AX=2HHB:10A148(H)

EIEBEIZAHGHIRE 7R
A ASTRO 0 ETEI5& IR
A
12:00 0
B it §8 N
A3 A4
13:40 14:30 0
C GBB 2 1
A2 3l 1
12:50
G2 | JURJLA 0 -
BS A5 _—
1540 020 = TAE—HNEJI
e |FvoE—L 0 S R
B1 Pk 2%1
1200 [ | o| o GBB
D =5 0 14 Eel
B3 B4 ’ P
13:40 14:30 oYL
Gl | TRE—H 6 )
B2 6
12:50
F ] [ 1

215 BIPHRE

PK 2%3







